Math 11 Foundations Review

Name: /A\a AR T Block: Lolliguess: /40

Diagrams not to scale. All questions worth 2 marks unless otherwise stated. Show all work!
1. What is the measure of angle a? i 2. What is the measure of angle d?
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Ca. A has parallel lines )
. B has parallel lines
| c. Aand B have parallel lines
e e e i s eenie b Neither have parallel lines




5. What s the measure ofangle R? | 6. Whatis the measure of angle M?

R= ééo

7. What is the measure of angle y? ' 8. What is the measure of angle b?

\ 135°

y = q%" b=4s"

9. What is the measure of angle q? 10. What is the measure of angley?
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¥




| g0 -2

£PSL =

I

12. Find the sum of the angles in a poly-gon with 13. How many sides must a polygon have if the sum of its inf
11 sides (show your work). [1 mark] i is 2300° (show your work).
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14. A regular polygon has 12 sides. What is the
measure of each of its angles? (show your
work).
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15 Each interior angle of a regular polygon measure 142°, H
sides does it have?

[3 marks]
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Math 11 Foundations Reasoning with Angles and Triangles Review

Diagrams not to scale. All questions worth 2 marks unless otherwise stated. Show all work!
1. Whatis the measure of angle a? i 2. What is the measure of angle b?
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C_a A has parallel lines >

: . B has parallel lines

c. Aand B have parallel lines
d. Neither has parallel lines
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7. What is the measure of angle y? 8. What is the measure of angle b?
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13. Find the sum of the angles in a polygon with 13 | 14. How many sides must a polygon have if the
sides (show your work). [1 mark] sum of its interior angles is 2700° (show your

work).
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+ 16. Each interior angle of a regular polygon

15. A regular polygon has 12 sides. What is the measure 165°. How many sides does it have?
measure of each of its angles? (show your ; [3 marks]
work]).
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17. What is the value of angle z? 18 What is the measure of angle a?
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19. Using the information given, are the triangles 20 Using the information given, are the triangles
congruent (y/n)? i congruent (y/n)?

State the congruence condition (eg. SAS) State the congruence condition (eg. SAS)
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18. Using the information below, are the : 19. Using the information given, are the triangles congruent
triangles congruent (y/n)? (y/n)?

State the congruence condition (eg. SAS) State the congruence condition (eg. SAS)

s AP e A

Diagrams not to scale. All questions worth 2 marks unless otherwise stated. Show all work!
20. Find the value of t. Round to the nearest tenth. ! 21. Find angle C. Round to the nearest degree.
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22. Find the value of w. Round to the nearest tenth. 23 For each of the following indicate if it is true for
ALL triangles or only for RIGHT triangles.

Cosine Law /An‘ C

3 AL
W = 6?-(& 2: Q" ! SineLaw -
Angles add to 180° ; ~
[ : R
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SOH CAH TOA [GLfT

w= gq,q Pythagorean Theorem P\Q |cHT

24. Find angle R. Round to the nearest degree.
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b= H&.0

26. Find side length m. Round to the nearest degree.
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27. Find the length of side t. Round to the nearest tenth.
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28. Two hikers begin at the
same camp. One walks 7km
at a bearing of 150°. The
other walks 9km at a
bearing of 220°. After 2
hours, how far apart are the
two hikers?

29. On a map, Victoriais 12 cm
away from Vancouver.
Nanaimo is 11 cm from
Victoria. Nanaimo and
Vancouver are 5 cm apart.
What is the angle at Victoria?
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30. The angle of depression
from a plane to an airport
runway is 13°. After flying
another 1600 meters toward
the airport, the new angle of
depression is 16°. What is
the altitude of the plane (its
height about the ground).
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s your calculator in “Deg” mode?

Math 11 Foundations Trigonometry Review

Diagrams not to scale. Show all work!
1. Find the value of y. Round to the nearest tenth. | 2. Find the value of x. Round to the nearest tenth.
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- 1 | = 15
A0 -2.8 = 9 | 36 Y
| s Sh =
£2.8\ - 7.84 7oA | X -
Yy =) 14y cos3 ¢
£.65856 g =1g8.5%
y= 8.} x= Q.5
3. Find angle B. Round to the nearest degree. | - 4 . For each of the following indicate if it is true
for ALL triangles or only for RIGHT triangles.
- Cosine Law /'AY \\
O 6 C\n Sine Law A \
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b= \6.60\

Pythagorean Theorem

Ll = q o
( ! Angles add to 180° P




SinA _ SinB a b b2 4+ c%2 —qa?

— 2 _p2 4 .2 _
- S SinA ~ SinB a“=b*+c 2bcCosA\ CosA The
5. Find the length of DE. Round to nearest degree.
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6. Find the value of angle y. Round to the nearest degree.
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SinA _ SinB a b 2= p2 4 2 _ 2pcCosA CosA =
a b SinA ~ SinB i - T
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7. Find angle R. Round to the nearest degree.
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8. Find the length of side x. Round to the nearest tenth.
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9. Apersonlooks up from the
ground and measures the
angle to the top ofa
building as 75°. After
walking directly away from
the building for 45 meters,
the angle is now 62°. How
tall is the building? Round
to the nearest tenth.
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10. Two golfers start at the same
location. One hits a golf ball 170
yards on a bearing of 50°. The
other hits their golf ball 190
yards on a bearing of 110°. How
far apart are the two golf balls?
Round to the nearest tenth.

2 Mo

11. John is 13m away from
you. George is 9m away
from you. John and George
are 5m apart from each
other. What is the angle
you measure between John'
and George? Give your
answer to the nearest
tenth of a degree.
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Math 11 Foundations Statistics Review

Sho_w all work!

1. Find the mean, median, mode, and range of the following data [1 mark each. 4 in total]

11,16,16,12,19,8,15,20

frem L3 - jeaS I

| o Median = }S’ <
A Y

{ Mode = / Q:
?— Owbé 22';) - g Range = , -2

2. Jason scores 84% his first test and 79% on his 3. Which quiz has the greater standard deviation?
second. What score does Jason need on his (Circle one) [1 mark]
third test to have an average (mean) of 86%?
Show your work

Socials Quiz
[1 mark for method; 1 mark for answer]
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Quiz Scores
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3rd test % = C? g 0
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French Quiz
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4. In anormal distribution, what percentage of 5. Inanormal distribution, approximately what
scores are below the mean? [1 mark] : percentage of scores are within one standard
deviation of the mean? [1 mark]

6. The scores on a provincial exam are normally distributed. A student’s score was 58% and the
average was 67%. If the standard deviation was 6, what was the student’s z-score? [2 marks]

2 <= ' .
o— | 2= = |

What percentage of students do we expect to score LOWER than the student above? [1 marKk]

G X

What percentage of students do we expect to score HIGHER than the student above? [1 mark]

G232/

If another student scored better than 99.27% of their peers (in other words, 99.27% of people who
wrote the test scored LOWER than this student), what was the student’s z-score? [1 mark]

9927 on ot



7. What percentage of scores fall within the shaded reglon (between the two scores)7 [2 marks]

-1.45 0.71

“asy  T7els

8. In order determine the mean mass of a Pokémon card, sampling is done and the following statement
is made by the company.

“The mean mass of a Pokémon card produced at our factory is 3.8 grams +0.2 grams. The results are
accurate 19 times out of 20.”

a) Determine the confidence level. [1 mark]
ﬁ\ <)
S A

b) Determine the confidence interval. [1 mark]

9. The class average on a test was 78%. Carl scored 66%, which was 1.5 standard deviations below the
mean. What was the standard deviation? [2 marks: 1 for formula/steps, 1 for answer]
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11. In order to be a candidate for the R.C.M.P., recruits are given a stress test. The scores are normally
distributed with a mean of 72 and a standard deviation of 7. If just the top 20% of recruits are
selected. Determine the minimum score needed on the test.

20d L+ (% F¢)
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12. From the stress test above, 300 R.C.M.P. recruits are selected. Their heights form a normal

distribution with a mean of 175 cm and a standard deviation of 6 cm. How many of the officers
are between 167 and 178 cm?
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31. Find the mean, median, mode, and range of the following data [1 mark each. 4 in total]

15,145 A 1
w _ \{é?/{
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Mean = IZP&DZ%
/V{ /W llf/;g ’/é% c’/ .\ | Median = )(,Ilg/
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32. Jason scores 79% his first test and 85% on his second. What score does Jason need on his third test
to have an average (mean) of 86%? Show your work

[1 mark for method; 1 mark for answer]
el = 79+8S+ X

25% = |LY +
19 = X

3rd test % = q {(




33. In a normal distribution, what percentage of : 34. In a normal distribution, approximately what
scores are below the mean? [1 mark] ; percentage of scores are within one standard
deviation of the mean? [1 mark]

average was 71%. If the standard deviation was 7, what was the student’s z-score? [2 marks]

r__, ==

2= CQ(K_:——N _ )-—@» L=

i

f

What percentage of students do we expect to score LOWER than the student above? [1 mark]

\
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What percentage of students do we expect to score HIGHER than the student ébove? [1 mark]

/OOfgg—%é = | Qéﬂ@f‘%

If another student scored better than 97.21% of their peers (in other words, 97.21% of people who
wrote the test scored LOWER than this student), what was the student’s z-score? [1 mark]
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37. In order determine the mean mass of a Pokémon card, sampling is done and the following statement
is made by the company.

.K'II {
“The mean mass-of a Pokémon card produced at our factory is 4.2 grams +0.5 grams. The results are
accurate 18 times--ou—tm‘—ZQj”

g

a) ~Determine the confidence level. [1 mark] - @fF Cc?f( g
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b) Determine the confidence interval. [1 mark]
_2/ —7‘ = L_IL o 7
L

38,7 The class average on a test was 92% Tintin scored é8%, which was 1.5 standard deviations below
the mean. What was the standard deviation? [2 marks: 1 for formula/steps, 1 for answer]
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39. What are Z; and Z,? [2 marks]

40. In order to be a candidate for the R.C.M.P., recruits are given a stress test. The scores are normally
distributed with a mean of 72 and a standard deviation of 7. If just the top 20% of recruits are
selected. Determine the mihimum score needed on the tfst.
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41. From the stress test above, 300 R.C.M.P. recruits are selected. Their helghts formanormal
distribution with a mean of 175 cm and a standard deviation of 6 cm. How many of the officers

are between 166 and 178 cm? .
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Instructions:

Quadratic Functions Review

1. Complete and correct all questions in column’s 1 and 2.
2. Ifyou make an errorin column 1 or 2, complete the corresponding question in that row in column 3.

2. Maximum or Minimum:
M. 0

3. Axis of symmetry:

%=

4,  Range:

o2 |

5. Equation: y= a(x—pj +q:

J ()

16.  Which of the following are

quadratic functions? Vi 2

A. y=x=(1+x)
B. y:5(1+x2 1

Vertex:

-3

( '5/ S—>

Direction of opening:

Do waN
Axis of symmetry:
X=—3

Domain:

K &=

Equation: y= a(x—p)z +q:

If the vertex of a parabola is
(—6,4), state the axis of

symmetry.

o | 2

. Verfex:

5,2)

Maximum or Minimum:

M
Axis of symmetry:
X =2
Range:
2.2
Equation: y= a(x—p)z +q:

Y=z (x=3)"+ 2

If range of a parabola s
y 25, write a possible
vertex.

(3 5)

19. Determine the x and y

intercepts of y=x*+3x-4

M (\-F'

o= x+3x-¢

o= (%A (x-1)
e

~ )
(1,2)

j ‘I‘A+

Determine the x and y
intercepts of
y=x"+8x+12.

j"(o)zw‘}(c‘é:}—(,t (/X {-é’} ( ;"LZ/)

¢

—int
g ~Z/'a >

Aé;/c

Determine the x and y
intercepts of y=x*-6x.

Y =X (x-6)

%’AAJF @/ o)

(6,2)

' (O/_@ 9T (e, 12) I (ga)



22. If a>1 then the graph of !
y=ax’:

Reflects over the x-axis,
Vertically expands,

C.

Vertically compresses e ﬁ Vertically compresses
25, Which one of the following  ; 26. Which one of the following |
graphs would look the ; graphs is the most vertically
widest? l expanded?
| _1, |
A y=4x* % y—4x I
F = =2
B. y= sz y=x
= 2 : i,
¢ )y=07x? PG y=IX
28 Write the equation and state | 29. Write the equation and state

the range.

If 0<a<1 then the
graph of y=ax*:

23.

A.
B.

Reflects over the x-axis,
Vertically expands,

the ax1s of symmetry

24. If a<0 then the graph of
y=ax*:

@) Reflects over the x-axis,
B. Vertically expands,
€. Vertically compresses

27. Which one of the following

graphs would look the
narrowest?
N y=—ax
, 5
B. y=-2x°
c =il
.y 2

30. Write the equation and state
the domam

| Eqﬁatwn - o . AEquatlonF &
Y = (wr 2) 4 y= (wﬁ

B. Range: B Axis of symmetry:

31. Graph }’=2(X—1)Z_7— 32. Graph y——— X— 1)z+2

(Plot 5 exact pomts)

PiEs




34, Determine the y and x-
intercepts. Round your
answer to the nearest tenth
where appropriate.

y= x+3)2—1
4
»L-"A‘

a+
5 J
O:(K+}> "

j:(ﬂl"

37. Write the equation in the !

formy:a(x—p)z+q.

Equation:

S%-9

.................................................................................

40. Write the equation of a |
parabola with an axis of !
symmetry of x=-1,a |
maximum value of 8 and
vertically compressed by a

factor of % .

D CRORR:

1 35,

Determine the y and x-
intercepts. Round your
answer to the nearest tenth
where appropriate.

33. Write the equation in

the formy=a(x—p)z+q.
e =

417" Write the equation of a
parabola with a vertex (-1,2)
and that is congruent to

3
y :_sz and opens down.

j"}“*" 4 )24 %
. f_i‘_!‘( ’/

36. Determine the y and x-
intercepts. Round your
answer to the nearest tenth

where appropriate.

y=—(x—2)2+4

39. Write the equation in
the form y = a(x—pj +q.

N

42, Write the equation of a
parabola with an axis of
symmetry of x=8, a minimum
value of -4 and vertically

2
compressed by a factor of g .

J7 Tx-38)



. _ o P
& 16iEn F=op i) s i 44. Given yz—l(x—1)2+2 4s. Given y=—1x2—4 state
state the following: ; 2 3
_ i state the following: the followmg
A. Vertex: ( 'C?/s> A. Axis of symmetry: A. Vertex: L{)

B. Max or Min? ' . 8. Opening; UporDown? |8 Maxor Mln?
i = o e May
¢. Range: ) £ i ¢. Range: ¢. Range:
g ;. 2 S ! < "2 3 < L‘,
b. X-intercepts? Yesor No? | b. X-inteTcepts? Yesor No? | b. X-intercepts? Yes or No?

ANJO i e s No

46. How many x-intercepts will 47. How many x- 1ntercepts will 48. How many x-intercepts will
y=a(x—p) +q haveifa>0 y=a(x—p)’ +q haveif a>0 y=-2(x-55)+1 have?
and q=0? : and g>0?

e

49. Write the equation of a 50. Write the equation of a 51. Write the equation of a
parabola with a vertex (3,4) parabola with a vertex (-2,5) parabola with a vertex (-2,-1)
and passes through the point and a y intercept of 4. and passes through the point
(2,-7). (6,0).
A
N 2 I'
C«(Wl) o o
=, "\J 'r‘ {_[ = &N f\"! /
= X ‘) ) ! o '2“.‘ & Z
: Lf = GL( ot ’ é: O
N :.’_. P E - - *" é ) e
™ (-5 Y O A& ( P
- | L(v = da L3

-z o~ 5,.!}-. ‘-{o\

J_ €A
i

| 2 ,ﬁ
3fw“(X%D*¥ s 2
\ (K“ ’ T.;; S /




|53,
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52. Amodel rocket is launched at
19.6 meters per second (m/s)
from a 58.8-meter tall
platform. The equation for the
object's height h at time t
seconds after launch is

h=-4.9t*+19.6t +58.8
where h is in meters. How
long until the rocket hits the
ground?

~

An object is launched from
the bottom of pit 33.6 meters
below the ground surface,
directly upward at 38.4 m/s.
The equation for the object's
height h at time t seconds
after launch is

h=—4.8t*+384t-33.6,
where h is in meters. For how
long is the object at or above
the ground surface?

40 . h

30 7 X

20 i .
wy |/

54. Atwig is tossed upward into
the air and follows the
pathway h=—t?+7t+9,
where hisin feetand tisin
seconds. How long will it take
the projectile to hit the ground?

REEE e S

23 -)



. Arectangular field beside a

river is to be fenced by 120
meters of fencing. No fence is
needed along the riverbank.

. Afence is to enclose a field

and divide it into 3 equal
areas. If 2400 m of fencing is
available, create an equation

57. What is the maximum

rectangular area that can be
enclosed using 60m of
fencing? Create an equation

that maximizes its area.

e

Create an equation that that maximizes its area.

maximizes its area.

-

20-2X ;
\ ]

58. Calculators are sold to

59. A magazine has a circulation

students for 10 dollars each.
Two hundred students are
willing to buy them at that
price. For every 1 dollar
increase in price, there are
10 fewer students willing to
buy the calculator. Create an
equation to find the selling
price that will maximize the

0f 100 000 per month when
they charge $2.00 fora
magazine. For each $.10
increase in price, 5 thousand
sales are lost. Create an
equation to find out how
much should be charged per
magazine to maximize the
revenue.

' revenue.

R o) (pree)
R= (ZOO-—IO)(Y“;*- x)

’?\._,.# %,é")/f/‘}‘érﬁ
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Quadratics Functions Review
Show all appropriate work in a neat and orderly manner.

\

4 Write the eq1iation inthe :: 7. Write the equation in the form
) : 2 ! R (R T
form y=a(x—p) +q: form y=a(x—p) +q: ! y—a(x P) +q:
l i C L - i 8 -:E-
j:(x+“5 - j == (-4 43 er(x%z) -2
i : 5. Direction of opening: i
2 Axis of symmetry: i P & ' 8.  Maximum or Minimum:
< a N2 HE
3, Vertex: ! 6. Domain: !
. i 1 9. Range:
/ — ) f e 1 Lo !
(—2,- ¢ L e~ Y92 -2
10, ifthe vertex of a parabolais | 11. Which of the followingare | 12. Write the equation ofthe
[4 11) state the axis of |_—quadraticfunctions? parabola with a vertex (-8,1),
" rak _ ! . _ry2
symmetry. U A y=X (1+5X) | that is congruentto y=5x and

L
— = 2 i opens down.
B y=2(1+x") -11 ;

¢ y=9x+3 j - - bﬂ(ﬂ'k'?) L+/

13. If a>1 then the graph of i 14. Which one of the following | . 1,
2 graphs would look the 15 Given y= —gx =4
y=a(x—p) +tq: narrowest? !

A. Vertex:

(O/"Lf>

B. Max or Min?

pre

A. Reflects over the x-axis,

\-1- -

B. Vertically expandﬁsh,x :

€. Vertically compresses



16. Determine the x and y intercepts of

{ 17. Write the equation of a parabola with a vertex
y=(x—-1)2-7 [3marks] ! :

(2,3) and passes through the point (4,-1)
Vi j e

j-\v{\* X! j —a (){_:2_ >2"f" 3
= _:(x -‘*I\lﬂ—-:?“

= |-
Y
= = CK"() (O —6>
L3 = X+ | '
10 .65 = x+

% =—~[.65 = =
K= 3.65 |

", ................................................................
18. Graph y=- (x 5) +4 (PlotSexact points. /2)
i 4 A

A1
H i

19. Graph y= —E(x— 1) +2  (Plot 5 exact points. /2)

PR S

ittt 15 b
: RN ah %
'45;5 :. (L f 0. . 5 i
i AT Sk

=i

20. How many x-intercepts will y=a(x— p)’ +q have if a>0 and q<0?




21. An object is launched from the bottom of pit 36 meters below the ground surface, directly upward at

40 m/s. The equation for the object’s height h at time t seconds after launch is h=—4t*+40t-36
where h is in meters. For how long is the object at or above the ground surface?

YR lpnt ~5E

I

O 40
30 -
CD - L% < -é . /Q{ q / o ;" \‘Grou urface
o =

equation that could be used to find the maximum area that can be enclosed by 500m of safety line.

2( SwimmingArea ><
A gz:x: —2 < ) ¢ ~

Shoreline

increase the price by $1000, 1 less car will be sold. Write as equation that could be used to determine
the car price that maximizes the dealership’s revenue.

o= (Lg@ocu ~+ /cmDK> (Sm -><>
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Systems of Equations review
Show all appropriate work in a neat and orderly manner.

1. Whatis the equation of one of the lines and the 2. Solve the following system by graphing. [/2]
solution to the following system? [/2] E

y=2x+1

Ay

P

Equation of one of the lines (either one):

ge=-2x+2 / Yz-3 x-2
74 7
Solution(s): /# — L'é )

<~ 1 7 5

4. Solve the following system by graphing. [/3]

y=—(x—3)*+7

y=x%-2

s
TN
1:
XO e
C
U,




\%H'—'v:?‘X

2x%2 —y =17

x+ty=2

Yes or no:

11=5x—y

-S5=x—-2y

Bj E1iM

2% - 9x
2= 0k

S’JL} ‘JCLCL;(\

)(:3 j:%

\
\
Solution(s): <—5 / u— )

_'12::—-(~=7< “‘Zj
\\=S’(_7j'§>‘j -3 = 7_j

y=—x2+5

ly=x2+2x+1

Yes or no: }6E

........................................................................

y=x%+2x

y=x?>-2x+4

2 E2et = X T+ 2R
— 2X+ GL

&4 =

2 %

“x

X
\
\A




9. Solve the following system algebraically. [/5]

y =x?+6x+ 10

y = 16x + 34

><2+6>c+(’t::> = J6x+ 3Y

K= Ox =2 = S

. P " i — _ } - kj
(x=r2 Y xt &,
12 i

[

"“'\JL) hek lc ,r*\,*KO (

)C’?\-»‘f{( = 2 | 2, 2.2 6 )
o (2,2
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Math 11 Foundations Measurement Review

Diagrams not to scale. All questions worth 2 marks unless otherwise stated. Show all work!

1. Convert 1,730,000 cm to kilometres.
) ‘:)‘o 3 k/\/\

2. Convert81lmLtoL
D-081

3. Convert 17 ft to metres.

<L B/ G m

4. Convert 115 m/h to cm/min [2 marks]

/ﬁ/a 6:7 C/V\/;l/\(\/\



5. Calculate the slope of the line passing through
the points A(-2,7) and B(9,—4)

Y7 — 1

p——

W?: ‘f‘—(-ZJ [

<l a) Accurate, but not precise ’Vp( c&? ,{
: e e - ) A
— { ( ‘b) Precise, but not accurate’ Cols g—[eﬂ.
(— =) ' ¢) Both accurate and precise

d) Neither accurate nor precise

7. You have two options at the grocery store:

Brand A 4 kg of flour for $7.50
Brand B 5 pounds of flour for $5.15

Which one is the better deal? Show your work. [2 marks]



8. AYouTuber had 8400 subscribers in 2015. In 2019 they have 42,800 subscribers. Calculate the
average rate of change with appropriate units.

Ho, B0~ T Yo )/

—_—
—/

gé@ SV&:‘;/J_%Z&?(-
Zol7“ 2olS '

a) Isthis an enlargement or reduction? e
e oot =7
|”—FH_'_'_'_._— L o T — ~
b) What are the new dimensions of the picture? =

” el “ 7 / -/?
T-x el T ety
Lo d ¥

10. A triangular object has a perimeter of 24 m and an area of 15 m?

a) What is the new perimeter if a linear scale factor of 3 is applied to it?
—

JYx3 = T7m

b) What is the new area afterthe lir_lear scale factor o_F E?i‘sgpplied toit? 2
Snr 375 e
=\ 2
| Sm S
/
L



11. Using the following map, what is the straight line distance to fly from Victoria to Price George?
[2 marks]




Measurement
42. Convert 2,330,000 cm to kilometers.

) e oo A& 7;;—-—;_ K"(:‘;‘;‘:' T 233 b\'\ :

43. Convert42mLto L

U2 miX - ]_5-.-641 L

Ll -

44, Convert 63 feet to meters.

AR N ) .

[ +4L | oo o~
45. Convert 2,330,000 km to mm.
Jean Satiella \oo o T
2 22002 1A X — ¥ — F-*' 27339909060/500m

[ hear | A

46. Convert 94 L to mL

(e |
GG Lx ‘*-fl—i—'f = |94, 00oml
_ —

47. Convert 22 meters to feet.

(50 i Py N
22("\ pa >¢ = o .,'
[ ™M D0, 48 B | 72” Q 7D7[\
48. Convert 225 m/h to cm/min [2 marks] /?
4 wol")
225 m N | hr o Jeo H““‘“_;L“S: | Dal 5 des:
— \= | oo
RN bo mn [ ., 2 G‘Aﬁim \ O
S O = ——— e

15



@ 3
49, Calculate the slope of the line passing through | 50, Calculate the slope of the line bassine thrauet

+ 50. Calculate the slope of the line passing through

the points A(-2,7) and B(9, —4) the points A(—2,7) and B(9, —4)

= ng&ﬁ/ M= =Y +2 —2_

M= |
q+2 ; - — |
S— = / |
\ |
51 You have two options at the grocery store: T
Brand A 6 kg of flour for $9.50
Brand B 9 pounds of flour for $7.15
Which one is the better deal? Show your work. [2 marks]
| ~E‘_G_C(

16



52. A YouTuber had 9900 subscribers in 2014. In 2018 they have 71,900 subscribers. Calculate the
average rate of change with appropriate units.

7 qee=TT00 | Crmee o
2 o1 B —201F & =

53. A photograph with a length of 10” and a width of 8” is scaled by a factor of 3:2.
7 Rord
e ©

a) Isthis an enlargement or reduction?
b) What are the new dimensions of the picture?

—
[ox—z = 1D

54. A triangular object has a perimeter of 27 m and an area of 18 m?
a) What is the new perimeter if a linear scale factor of 3 is applied to it?

—_— -II
|

Tes 29v3 g

b) What is the new area after the linear scale factor of 3 is applied to it?

A ree S;gl 311 C?




12.
Determine the scale factor that was used to transform diagram X into diagram Y. Express your
scale factor as a fraction and as a percent to one decimal place.

e [
Edem X /‘6
| Y | 20cm
F0em

1S

24:5em

12. Determine the scale factor that was used to transform diagram X into diagram Y. Express your
scale factor as a fraction and as a percent to one decimal place.

Fem X

[T 2eem §
0T

SAME RS AloVE

18



7. Use inductive reasoning to test the following
conjecture. Tell me if you think it is true or
false. If it is false, give me a counter example.

(2]

Ifyou square two different numbers and add them
together you will get an odd number.

[s it true or false? 7:/-¥~ LS & '

5 Ahey oo Lot p

o s8¢ Hus canTe” T
D =
—/’, J(:(?’

If false, a counter example is:

i If false, a counter example is:

conjecture. Tell me if you think it is true or
false. If it is false, give me a counter example.

[2]

Ifyou square any even number and add one you will

always have a prime number.

Primes: 2, 3,5,7,11,13,17, 19, 23, 29, 31, 37, 41,
43,47,53,59,61,67,71,73,79,83,89,97,101...

[s it true or false? / —ALS &

Z |

9. Use deductive reasoning to prove the
following conjecture: [2 marks]

The sum of two even numbers is an even
number.

Lyt 2
z(><+j>

) rsr’f _,MS(;
dv BJZ 4 o A

i 10. Use deductive reasoning to prove the

following conjecture: [2 marks]

The sum of two consecutive numbers is an odd
number.

Ao+ x+
- 2,><+f

n+df“‘ e éj 4
9@ (‘ j 'xl,é




___________________________________________________________ L

The circumference of a circle is changed from 8cm to 14 cm. Determine the area scale factor. You may
give your answer as a ratio, rational number, or decimal. [2]

LIP—’ gcale "Fé_cl’(ﬂf' ;A,rc& Sm’i"

Factar
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Name:

Finance Quiz 1 — Interest
Show all work as demonstrated in class. All questions are worth 2 marks.

1. What is the simple interest if there is $815 in an account earning 2.1% for 7 years?

7 - s sCe2(F)
) -*19.8] |

_,-'__,_,_—————"‘——— ——
2. IfaCanada Savings Bond is worth $6225 after 7 years, and was originally bought for $5000,
what was the annual simple interest rate? Answer as a percentage.

1225 = s@e (T )(F) [
—~ 0.035 | "

3. Asavings account has $24,750 in it, earning 1.25% interest, compounded annually for 3 years.
How much will be in the account after that time?

A= 2y750(1t 22

| ATos w772/

4. Aterm account earns 3.6%, compounded daily for 3 years. If the amount is $8411.02 at the end
of the 3 year period, what was the principal?

e rs \.I(I
ATTEUTD o TS
—_— 26 N | — = T £ /
%_--LH[‘D__Q; ﬁ//{ﬂa__’;j__/__;) / ) - D:.;_,-.C).

5. Kyle has $1500 to invest in a saving’s account for 5 years. He has 3 options:
Bank A — provides simple interest at 2%

Bank B — provides compound interest at 2% compounded annually

__gjaﬁEt — provides compound interest at 2% compc;u_rid_eT:i'd'éiIv .

Which bank should he choose? Explain your reasoning.

@M/)o"/\"j“ij &S @-5 ~=n /'D ' Lff :;-
L S_‘L ‘/’\lerf__..f‘gf” -~'- fo(( @ﬁ%te;“ —t-73, (“h-'“Z‘D"_ﬂE



T e

I



